1. A company in the process industry produces a chemical compound that is sold to manufac​turers for use in the production of certain plas​tic products. The plant that produces the com​pound employs approximately 300 people. De​velop a list of six different cost elements that would be fixed and a similar list of six cost el​ements that would be variable.

2. Refer to Problem 1 and your answer to it.
a. Develop a table that shows the cost elements you defined and classified as fixed and vari​able.   Indicate which of these costs are also
recurring, nonrecurring, direct, or indirect.

b. Identify one additional cost element for each of the cost categories: recurring, nonrecur​ring, direct, and indirect.

3. Classify each of the following cost items as mostly fixed or variable: 

Raw materials 

Direct labor

Depreciation

Supplies 

Utilities

Property taxes

Administrative salaries

Payroll taxes

Insurance (building and equipment) 

Clerical salaries 

Sales commissions 

Rent

Interest on borrowed money

4. A municipal solid-waste site for a city must be located at Site A or Site B. After sorting, some of the solid refuse will be transported to an electric power plant where it will by used as fuel. Data for the hauling of refuse from each site to the power plant are shown in Table P4.

Table P4
	
	Site A
	Site B

	Average hauling distance
	6.5 km
	5 km

	Annual rental fee for solid waste site
	L.E. 20000
	L.E. 400000

	Hauling cost
	L.E. 6 / m3 - km
	L.E. 6 / m3 - km


If the power plant will pay L.E. 8.00 per cubic meter of sorted solid waste delivered to the plant, where should the solid-waste site be located?  Use the city's viewpoint and as​sume that 200,000 cubic meters of refuse will be hauled to the plant for one year only.
